Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited proposes to appoint Retail Outlet dealers in Himachal Pradesh, as per following details:

SI. No	Name of location	Revenue District	Type of RO	Estimat ed monthly Sales Potentia I#	Category	Type of Site*	Minimun M.)/Area	n Dimensi	on (in		e arranged by t (Amount in	Mode of Selection	Fixed Fee / Minimum Bid amount (Amount in Lakhs)	Security Deposit (Amount in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
					SC									
					SC CC-1									
					SC PH									
					ST									
					ST CC-1					Estimated	Estimated			
				Rural in KLs O		66./				working	fund required	D		
			Regular /			CC / DC /	Frontage	Depth	Area	capital requiremen	for developme	Draw of Lots /		
			Kurai			CFS				t for operation	nt of	Bidding		
										of RO	infrastructu re at RO			
					OPEN									
					OPEN CC-									
					OPEN CC-									
					OPEN PH									
1	BAIJNATH WITHIN MUNICIPAL LIMIT ON NH 154	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of	15	5
2	1 KAAC EDOM DTO DADDIED NEAD DUNIAD UIMACUAL DODDED	LINIA		150	ODC	DC	20	20	400	22	0.5	Lots	15	4
2	1 KMS FROM RTO BARRIER NEAR PUNJAB-HIMACHAL BORDER ON NH-3 UPTO 4KMS FROM RTO BARRIER TOWARDS GAGRET	UNA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
3	BETWEEN KM STONE NO. 131 AND 141 TOWARDS AUHAR ON LEFT HAND SIDE ON KIRATPUR NER CHOWK EXPRESSWAY (NH 154)	BILASPUR	Regular	240	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	BETWEEN IOCL PETROL PUMP (M/S SHAHEED KASHMIR FILLING STATION SALONI) AND CITY HEART SUPER SPECIALITY HOSPITAL , BARSAR ON NH 503A	HAMIRPUR	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
5	BETWEEN APPLE BLOSSOM HOTEL FAGU AND STERLING RESORT KUFRI ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
6	NALAGARH WITHIN MUNICIPAL LIMIT ON NALAGARH- RAMSHEHAR ROAD (MDR 77)	SOLAN	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
7	BETWEEN KILOMETER STONE NUMBER 40 TO 42 ON RIGHT HAND SIDE TOWARDS KUMARHATTI (NH 907A) , DISTT. SIRMOUR	SIRMAUR	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3

8	WITHIN 4 KMS FROM INTERSECTION OF NH 154 AND NH 503 AT MATOUR TOWARDS BAGLI ON NH 503	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
9	BETWEEN HOTEL CLARKS INN EXPRESS, BADDI AND HOTEL APEX, BHUD TOWARDS NALAGARH ON LEFT HAND SIDE ON BADDI-NALAGARH ROAD (NH 105)	SOLAN	Regular	360	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
10	BETWEEEN PUNJAB -HIMACHAL BORDER AND TANUHATTI BARRIER ON NH 154A	СНАМВА	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
11	WITHIN 2 KMS FROM DAV PUBLIC SCHOOL KUMARHATTI ON LEFT HAND SIDE TOWARDS SOLAN ON NH 05	SOLAN	Regular	200	OPEN	СС	20	20	400	32	12	Bidding	30	5
12	BETWEEN KM STONE NO. 14 AND 17 ON LEFT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 205)	BILASPUR	Regular	240	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
13	MOHAL GHUTAN PUR, TEHSIL PAONTA SAHIB ON NH 907	SIRMAUR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
14	DHARAMSHALA WITHIN MUNICIPAL LIMIT ON KOTWALI - YOL CANTT ROAD (ON MDR 78)	KANGRA	Regular	150	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
15	BETWEEN KM STONE 163 TO 165 ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
16	BETWEEN KM STONE 292 TO 295 ON NH -03 ON EITHER SIDE	KULLU	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
17	BETWEEN KILOMETER STONE NUMBER 53 TO 55 ON NH-907A NAHAN - KUMARHATTI ROAD TEHSIL PACHHAD	SIRMAUR	Regular	160	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
18	MOHAL MANGVAYIN ON MANGVAYIN-MANDI ROAD	KULLU	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
19	FROM SOUTH PORTAL OF ATAL TUNNEL TO SOLANG VALLEY RESORTS ON MANALI LEH HIGHWAY	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
20	BETWEEN KM STONE NO. 18 AND 27 TOWARDS BILASPUR ON RIGHT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 205)	BILASPUR	Regular	240	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
21	BETWEEN KILOMETER STONE NUMBER 65 TO 69 ON NH-7	SIRMAUR	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
22	MOHAL BEHNA ON NH 154 (MANDI BYPASS)	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
23	BETWEEN BRIDGE ON GOBIND SAGAR LAKE, BARARI AND HOTEL BHAGYA, PADGAL TOWARDS NAUNI ON LEFT HAND SIDE ON AUHAR-BILASPUR ROAD (NH 154)	BILASPUR	Regular	210	OPEN CC 2	DC	20	20	400	32	95	Draw of Lots	15	5
24	BHIMA KALI TEMPLE TO DAV SCHOOL, MANDI ON NH 154 ON EITHER SIDE .	MANDI	Regular	150	OBC CC 1	DC	20	20	400	32	95	Draw of Lots	15	4
25	ON RIGHT HAND SIDE 3KMS FROM RAILWAY CROSSING, SOLAN CITY ON KALKA - SHIMLA NH-5 TOWARDS KALKA	SOLAN	Regular	220	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
26	BETWEEN GOVERNMENT SCHOOL, KHEDA-NANOWAL AND JAL SHAKTI BOARD, NALAGARH TOWARDS NALAGARH ON RIGHT HAND SIDE ON BADDI-NALAGARH ROAD (NH 105)	SOLAN	Regular	380	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
27	BETWEEN KM STONE NO. 145 AND 149 TOWARDS DEHAR ON LEFT HAND SIDE ON KIRATPUR NER CHOWK EXPRESSWAY (NH 154)	BILASPUR	Regular	240	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
28	MOHAL - SAMBHAL TEHSIL - MANDI ON NH 03 (OLD NH 21) AT RIGHT HAND SIDE (MANDI TOWARDS MANALI)	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
29	BETWEEN RAJ INDUSTRIES, NALKA AND AKASH HOSPITAL, NALAGARH ON BADDI-NALAGARH ROAD (NH 105) TOWARDS NALAGARH ON LEFT HAND SIDE	SOLAN	Regular	320	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

30	BETWEEN KM STONE NO. 143 AND 148 TOWARDS DEHAR ON RIGHT HAND SIDE ON KIRATPUR NER CHOWK EXPRESSWAY (NH 154)	BILASPUR	Regular	240	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
31	BETWEEN KM STONE NO. 150 AND 152 TOWARDS DEHAR ON RIGHT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 154)	BILASPUR	Regular	240	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
32	BETWEEN KM STONE 195 TO 198 ON NH5	SHIMLA	Regular	160	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
33	BETWEEN KM STONE NO. 18 AND 27 TOWARDS BILASPUR ON LEFT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 205)	BILASPUR	Regular	240	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
34	MOHAL JISPA , MANALI -LEH HIGHWAY DISTRICT - LAHAUL AND SPITI SPITI (ON NH 3)	LAHAUL AND SPITI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
35	BETWEEN KM STONE NO. 131 AND 139 TOWARDS AUHAR ON RIGHT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 154)	BILASPUR	Regular	240	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
36	BETWEEN KM STONE 210 TO 212 ON NH -03 ON EITHER SIDE	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
37	IN AND WITHIN 5 KMS FROM VILLAGE NANDPUR ON NH- 503EXTN TOWARDS AMB	UNA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
38	FROM KM STONE NO 152 TO 154 ON NH 154 , PATHANKOT TO MANDI LEFT HAND SIDE , TEHSIL JOGINDERNAGAR	MANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
39	BETWEEN KM STONE 248 TO 251 ON NH-03 ON RIGHT HAND SIDE (MANDI TOWARDS MANALI)	KULLU	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
40	BETWEEN KM STONE NO. 296 TO KM KM STONE NO. 298 ON EITHER SIDE ON NH 03 (OLD NH 21)	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
41	BETWEEN KM STONE- 240 KM STONE -245 ON NH - 03 LEFT HAND SIDE (MANDI TOWARDS MANALI)	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
42	BETWEEN KM STONE 282 TO 284 ON NH -03 ON EITHER SIDE	KULLU	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
43	IN BETWEEN HOTEL DEHDEN RETREAT AND HOTEL SAKYA ABODE ON NH505, KAZA DISTRICT LAHAUL AND SPITI	LAHAUL AND SPITI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
44	BETWEEN KM STONE- 240 KM STONE -245 ON NH - 03 RIGHT HAND SIDE (MANDI TOWARDS MANALI)	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
45	BETWEEN KM STONE-192 TO 194 ON OLD NH 21 (MANDI BY PASS) . ON LEFT HAND SIDE (KIRATHPUR TO MANALI)	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
46	BETWEEN KM STONE NO-192 TO 194 ON OLD NH 21(MANDI BY PASS) . ON RIGHT HAND SIDE(KIRATHPUR TO MANALI)	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
47	BETWEEN KM STONE -274 TO KM STONE NO. 276 ON LEFT HAND SIDE ON NH 03 (OLD NH 21)FROM CHANDIGARH TOWARDS MANALI	KULLU	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
48	BETWEEN KM. STONE NO. 178-180 (RIGHT HAND SIDE) ON NH- 154 (OLD NH-21) ON SUNDER NAGAR BY PASS ROAD) AT MOHAL CHOWK, TEHSIL SUNDER NAGAR, DISTT. MANDI	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
49	BETWEEN KM. STONE NO. 180-182 (LEFT HAND SIDE) ON NH- 154 (OLD NH-21) ON SUNDER NAGAR BY PASS ROAD) AT MOHAL CHOWK TEHSIL SUNDER NAGAR, DISTT. MANDI	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
50	WITHIN NAGAR PANCHAYAT, TALAI ON BARSAR-SHAHTALAI- BERTHIN ROAD	BILASPUR	Regular	110	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4

51	WITHIN 3 KMS OF WANGTOO BRIDGE TOWARDS SHIMLA ON NH5	KINNAUR	Regular	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
52	BETWEEN KM STONE 9 AND 13 TOWARDS SWARGHAT ON RIGHT HAND SIDE ON KIRATPUR SWARGHAT ROAD (NH 205)	BILASPUR	Regular	360	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
53	BIHULI BRIDGE TO BPCL PETROL PUMP(KULDEEP CHAND AND SONS) ON OLD NH-21 ON EITHER SIDE .	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
54	BETWEEN KM STONE 100 AND 111 ON GHUMARWIN- HAMIRPUR ROAD (NH 103)	BILASPUR	Regular	160	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
55	WITHIN 3 KMS OF HOTEL LE MARIET, KISHANPURA ON RIGHT HAND SIDE ON BADDI-NALAGARH ROAD (NH 105)	SOLAN	Regular	220	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
56	IN AND WITHIN 3 KMS OF MOHAL JAMSAI ON NH03 .TEHSIL SARKAGHAT,DIST-MANDI	MANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
57	IN BETWEEN TALLAND JUNCTION AND SANJAULI CHOWK VIA HP CIVIL SECRETARIAT, SHIMLA WITHIN MUNICIPAL LIMITS	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
58	DEHRA WITHIN MUNICIPAL LIMITS ON JAWALAMUKHI TO NAGROTA SURIAN MDR	KANGRA	Regular	100	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
59	CHAMBA WITHIN MUNICIPAL LIMIT (ON NH 154 A)	СНАМВА	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
60	MOHAL KUDDU ON NH707	SHIMLA	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
61	DHARAMSHALA WITHIN MUNICIPAL LIMITS (ON DHARAMSHALA KHANIARA ROAD VIA KANDI)	KANGRA	Regular	120	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
62	DALHOUSIE WITHIN MUNICIPAL LIMIT, ON MDR 49 (BANIKHET DALHOUSIE KHAJIAR ROAD)	СНАМВА	Regular	130	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
63	NAGROTA BAGWAN WITHIN MUNICIPAL LIMITS ON NH 154	KANGRA	Regular	170	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
64	DHARAMSHALA WITHIN MUNICIPAL LIMITS ON NH 503	KANGRA	Regular	166	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
65	MANALI BRIDGE, MANALI TO MOHAL KALATH ON NH 03	KULLU	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
66	DHAMAN BRIDGE TO BPC PETROL PUMP LARGI ON NH-305	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
67	FROM DRDO GUEST HOUSE , MANALI TO MOHAL PALCHAN ON NH-03	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
68	FROM MOHAL BANJAR TO MOHAL JIBHI ON NH-305.	KULLU	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
69	IN AND WITHIN 3 KMS OF MOHAL DEHAR ON RIGHT HAND SIDE FROM MANDI TOWARDS KIRATPUR ON KIRATPUR-NEERCHOWK EXPRESSWAY	MANDI	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
70	BETWEEN KM STONE NO. 9 AND 13 TOWARDS SWARGHAT ON LEFT HAND SIDE ON KIRATPUR SWARGHAT ROAD (NH 205)	BILASPUR	Regular	360	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
71	IN AND WITHIN 2 KMS OF MOHAL BALU GALOA ON JAWALAMUKHI TO KANGRA ROAD NH 303	KANGRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
72	IN AND WITHIN 2 KMS OF VILLAGE DHARU TEHSIL AMB ON NH 3	UNA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
73	WITHIN 02 KM FROM MAHINDRA SHOWROOM (J S GROVER AUTOMOTIVES) , TOWARDS PALAMPUR ON MANDI PATHANKOT HIGHWAY(NH 154)	KANGRA	Regular	180	OBC CC 1	DC	20	20	400	32	95	Draw of Lots	15	4
74	WITHIN 2KMS OF RESORT EUTOPIA (ON RIGHT HAND SIDE FROM KALKA TOWARDS SHIMLA NH-5)	SOLAN	Regular	220	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3

75	WITHIN 2 KM OF GOVERNMENT HOSPITAL BARAN ON NH 03	KULLU	Regular	180	OPEN PH	DC	20	20	400	32	95	Draw of Lots	15	5
76	KM STONE NO 205 TO 207 ON NH-03 ON LEFT HAND SIDE(MANDI TOWARDS MANALI)	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
77	IN AND WITHIN 6 KMS FROM VILLAGE DHUSARA AWAL ON NH 503 EXTENSION TOWARDS AMB	UNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
78	MOHAL KOLAR, TEHSIL PAONTA SAHIB ON KALA AMB - PAONTA SAHIB ROAD ON NH-07	SIRMAUR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
79	IN BETWEEN DHALLI BUS STAND CHOWK AND AUCKLAND TUNNEL SHIMLA VIA IGMC	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
80	MANALI WITHIN MUNCIPIAL LIMIT ON NH 03 (OLD NH 21)	KULLU	Regular	190	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
81	IN BETWEEN TUTIKANDI JUNCTION AND VICTORY TUNNEL, SHIMLA WITHIN MUNICIPAL LIMITS	SHIMLA	Regular	200	OPEN	CC	20	20	400	32	12	Bidding	30	5
82	IN BETWEEN VICTORY TUNNEL AND TALLAND JUNCTION, SHIMLA WITHIN MUNICIPAL LIMITS	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
83	MOHAL PALI , TEHSIL - PADHAR ON NH-154	MANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
84	MEHATPUR BASDEHRA WITHIN MUNICIPAL LIMIT ON MEHATPUR-NICHLI BHATOLI ROAD	UNA	Regular	110	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
85	IN BETWEEN VICTORY TUNNEL TO AUCKLAND TUNNEL, SHIMLA WITHIN MUNICIPAL LIMITS	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
86	ON LEFT HAND SIDE 3KMS FROM RAILWAY CROSSING, SOLAN CITY ON KALKA - SHIMLA NH-5 TOWARDS SHIMLA	SOLAN	Regular	220	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
87	ON NH5 IN BETWEEN ISBT TUTIKANDI AND BCS JUNCTION	SHIMLA	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
88	MOHAL - BANALA ON NH 03 (OLD NH 21) RIGHT HAND SIDE (FROM MANDI TOWARDS MANALI)	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
89	KANGRA WITHIN MUNICIPAL LIMIT (ON NATIONAL HIGHWAY)	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
90	KUFRI BYPASS ROAD ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
91	MOHAL BAG PASHOG TEHSIL PACHHAD ON NAHAN KUMARHATTI ROAD (NH 907A)	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
92	ON NH5 IN BETWEEN SHOGHI BYPASS JUNCTION AND GOYAL MOTORS MARUTI ARENA SHOWROOM TARADEVI	SHIMLA	Regular	200	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
93	WITHIN 2 KM OF INTERSECTION OF NH 03 (OLD NH 21) AND JIA MANIKARAN ROAD ON RIGHT HAND SIDE FROM MANDI TOWARDS MANALI ON NH 03 (OLD NH 21)	KULLU	Regular	155	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
94	BETWEEN 6 KM TO 8KMS FROM GURU GOBIND CHOWK TOWARDS RAJBAN ON LEFT HAND SIDE ON NH707	SIRMAUR	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
95	MOHAL BHAJANA TUTAB TEHSIL PACHHAD ON SOLAN NAHAN ROAD (NH 907A)	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
96	RECONG PEO WITHIN MUNICIPAL LIMITS ON NH 505A	KINNAUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
97	MOHAL KOTI KHAAS TEHSIL KASAULI ON LEFT HAND SIDE OF KALKA SHIMLA HIGHWAY TOWARDS SHIMLA (NH 05)	SOLAN	Regular	310	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
98	MOHAL MADANPUR TEHSIL UNA ON NH 503A	UNA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

9	MOHAL GADSHAYA TEHSIL PACHHAD ON NH 907A	SIRMAUR	Regular	170	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
00	RAMPUR BUSHAHR WITHIN MUNICIPAL LIMITS ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
01	MOHAL MAJRA, TEHSIL POANTA SAHIB ON NH 07	SIRMAUR	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
L02	MOHAL GANGTOLI , TEHSIL SHILLAI ON NH 707	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
103	MOHAL NALSAN , TEHSIL MANDI, ON NH-03	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
104	MOHAL SAMBHAL , TEHSIL - MANDI ON NH 03 (OLD NH 21) AT LEFT HAND SIDE(MANDI TOWARDS MANALI)	MANDI	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
105	ROHRU WITHIN MUNICIPAL LIMIT	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
106	WITHIN 2 KM OF SUB DIVISIONAL OFFICE KAFOTA, KAFOTA ON NH 707	SIRMAUR	Regular	170	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
107	ON NH5 IN BETWEEN BAHRA UNIVERSITY AND KAITHALIGHAT RAILWAY STATION	SOLAN	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
108	ON NH5 IN BETWEEN GOYAL MOTORS MARUTI ARENA SHOWROOM TARA DEVI AND TUTIKANDI JUNCTION	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
109	WITH IN 3 KMS OF HPTDC HOTEL GIRIGANGA RESORT KHARAPATHAR TOWARDS THEOG ON NH705	SHIMLA	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
110	MOHAL THALOUT, ON NH-03 (OLD NH 21) ON EITHER SIDE	MANDI	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
.11	ON NH5 IN BETWEEN IHM KUFRI AND STERLING RESORT KUFRI	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
112	WITH IN 3 KM FROM MANDI KANGRA DISTRICT BORDER TOWARDS PALAMPUR ON NH-154	KANGRA	Regular	180	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
113	WITHIN 4 KMS OF BARSAR POLICE STATION TOWARDS LATHIANI ON NH503A ON EITHER SIDE OF ROAD	HAMIRPUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
114	WITH IN 4 KMS OF HATKOTI JUNCTION (INTERSECTION OF NH705 AND NH707) TOWARDS THEOG ON NH705	SHIMLA	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
115	ON NH5 IN BETWEEN THE ORCHID HOTEL SHIMLA AND DHALLI BUS STAND CHOWK	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
116	ON THEOG BYPASS, NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
17	NAHAN WITHIN MUNICIPAL LIMIT (NOT ON NH)	SIRMAUR	Regular	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
118	WITH IN 4 KMS OF INTERSECTION OF NH5 AND NH705 AT THEOG TOWARDS NARKANDA ON NH5	SHIMLA	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
119	PALAMPUR WITHIN MUNICIPAL LIMIT ON MDR 78	KANGRA	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
L20	RAJGARH TOWN WITHIN NAGAR PANCHAYAT	SIRMAUR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
121	NAHAN WITHIN MUNICIPAL LIMITS ON NH	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
122	RECONG PEO WITHIN MUNICIPAL LIMITS NOT ON NATIONAL HIGHWAY	KINNAUR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
123	WITHIN 3 KMS OF KARCHAM BRIDGE TOWARDS SHIMLA ON NH5	KINNAUR	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3

124	WITHIN 3 KMS OF KARCHAM BRIDGE TOWARDS RECONGPEO ON NH5	KINNAUR	Regular	150	OPEN CC 2	DC	20	20	400	32	95	Draw of Lots	15	5
125	WITHIN 2 KMS OF HOTEL GULMOHAR GRAND ON NH-503 EXTN (RIGHT HAND SIDE FROM MEHATPUR TOWARDS UNA)	UNA	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
126	SHIMLA WITHIN MUNICIPAL LIMIT NOT ON NATIONAL HIGHWAY	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
127	WITHIN 2 KM OF ANNI BUS STAND ON NH 305 .	KULLU	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
128	NER CHOWKE (WITHIN MUNICIPAL LIMIT) BETWEEN DADAOUR CHOWK TO MOHAL NAGCHALLA	MANDI	Regular	130	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
129	SHIMLA WITHIN MUNICIPAL LIMIT ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
130	SUNDERNAGER WITHIN MUNICIPAL LIMIT ON NH -154	MANDI	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
131	ON LEFT HAND SIDE 3KMS FROM RAILWAY CROSSING, SOLAN CITY ON KALKA - SHIMLA NH-5 TOWARDS KALKA	SOLAN	Regular	220	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
132	UPMOHAL BASOLI UPARLI TEHSIL UNA ON NH 503A	UNA	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
133	WITH IN 3 KMS OF HPTDC HOTEL GIRIGANGA RESORT KHARAPATHAR TOWARDS HATKOTI ON NH705	SHIMLA	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
134	WITH IN 5 KMS OF INTERSECTION OF NH705 WITH PARALA CHOPAL ROAD AT CHHAILA TOWARDS THEOG ON NH705	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
135	ON NH5 IN BETWEEN BISHOP COTTON SCHOOL AND MEHLI JUNCTION SHIMLA WITHIN SHIMLA MUNICIPAL LIMITS	SHIMLA	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
136	WITHIN 2 KM OF HAMIR HOSPITAL ON HAMIRPUR BYPASS ROAD (ON NH) TOWARDS NADAUN LEFT HAND SIDE	HAMIRPUR	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
137	WITHIN 04 KM FROM HRTC BUS DEPOT , JASSUR ON NH -154 TOWARDS NURPUR	KANGRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
138	WITHIN 1 KMS OF HOTEL GULMOHAR GRAND ON NH-503 EXTN (LEFT HAND SIDE FROM MEHATPUR TOWARDS UNA)	UNA	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
139	ON NH5 IN BETWEEN INTERSECTION OF SHIMLA TATTAPANI ROAD WITH NH5 AT DHALLI AND IHM KUFRI	SHIMLA	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
140	ON NEW SOLAN RAJGARH BY PASS ROAD TEHSIL SOLAN (WITHIN MUNICIPAL LIMITS)	SOLAN	Regular	170	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
141	WITHIN 04 KM OF DIET,SARU ON NH 154A	СНАМВА	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
142	WITHIN 04 KM OF POLICE STATION BHARMOUR ON NH -154A (CHAMBA -PATHANKOT ROAD)	СНАМВА	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
143	ON NH5 IN BETWEEN MEHLI JUNCTION AND THE ORCHID HOTEL SHIMLA	SHIMLA	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
144	WITHIN 05 KM OF RADHA SOWAMI SATSANG,PARAUR TOWARDS PALAMPUR ON NH-154	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
145	WITHIN 2KM OF TALYAHAR CHOWK (INTERSECTION OF NH-03 AND MDR 26(RIWALSAR TO MANDI ROAD) ON NH 03 .	MANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
146	WITHIN 1 KM OF IOCL PETROL PUMP M/S JAI JAGDAMBAY FILLING STATION AT MEELWAN DISTRICT KANGRA ON NH 44 (PATHANKOT TOWARDS JALANDHAR) RIGHT HAND SIDE	KANGRA	Regular	350	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
147	ON RIGHT HAND SIDE 3KMS FROM RAILWAY CROSSING, SOLAN CITY ON KALKA - SHIMLA NH-5 TOWARDS SHIMLA	SOLAN	Regular	220	OBC	DC	20	20	400	32	95	Draw of Lots	15	4

148	WITHIN 2 KM OF INTERSECTION OF NH 03 (OLD NH 21) AND JIA MANIKARAN ROAD ON LEFT HAND SIDE FROM MANDI TOWARDS MANALI ON NH 03 (OLD NH 21)	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
149	BETWEEN KM STONE 255 AND KM STONE 257 RIGHT HAND SIDE ON NH -03 (MANDI TOWARDS MANALI)	KULLU	Regular	160	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
150	WITHIN 3 KMS OF WANGTOO BRIDGE TOWARDS RECONGPEO ON NH5	KINNAUR	Regular	150	OBC PH	DC	20	20	400	32	95	Draw of Lots	15	4
151	WITHIN 2 KM OF SHAHPUR BUS STAND ON NH154	KANGRA	Regular	158	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
152	WITHIN 1 KM OF HPCL PETROL PUMP (M/S PARAS RAM & CO.) , NADAUN TEHSIL ON NH 03	HAMIRPUR	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
153	PAONTA SAHIB WITHIN MUNICIPAL LIMIT (NOT ON NH)	SIRMAUR	Regular	160	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
154	WITHIN 3 KM FROM KOTLI BUS STAND ON NH - 03	MANDI	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
155	WITHIN 2 KMS OF JUBBAL KAINCHI INTERSECTION ON NH 705	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
156	WITHIN 2 KMS OF TERMINAL MARKET, PARWANOO TOWARDS PINJORE ON LEFT HAND SIDE ON NH 5 (PARWANOO BYPASS)	SOLAN	Regular	310	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
157	POANTA SAHIB WITHIN MUNICIPAL LIMITS ON NH	SIRMAUR	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
158	WITHIN 3 KMS OF GOVT SENIOR SECONDARY SCHOOL GHANAHATTI TOWARDS DARLAGHAT ON NH 205	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
159	WITHIN 2KMS OF RESORT EUTOPIA (ON LEFT HAND SIDE FROM KALKA TOWARDS SHIMLA NH-5)	SOLAN	Regular	220	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
160	WITHIN 3 KM FROM POLICE STATION DRANG TOWARDS MANDI ON NH-154	MANDI	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
161	VILLAGE BEHNA , TEHSIL ANNI ON NH 305	KULLU	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
162	SHIMLA WITHIN MUNICIPAL LIMITS ON NH 205	SHIMLA	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
163	BETWEEN KM STONE NO. 14 AND 17 ON RIGHT HAND SIDE ON KIRATPUR-NER CHOWK EXPRESSWAY (NH 205)	BILASPUR	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
164	WITHIN 2KMS OF OLD BUS STAND SOLAN AT MALL ROAD ON EITHER SIDE OF ROAD	SOLAN	Regular	150	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
165	WITH IN 4 KMS OF HATKOTI JUNCTION (INTERSECTION OF NH705 AND NH707) TOWARDS TIUNI ON NH707	SHIMLA	Regular	160	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
166	WITHIN 3 KMS FROM HIMACHAL PUNJAB BOUNDARY AT TOKI BARRIER TOWARDS DAMTAL AT LEFT HAND SIDE ON PATHANKOT JALANDHAR NATIONAL HIGHWAY NH 44	KANGRA	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
167	WITHIN 3 KMS OF HOTEL SHAGUN, NALAGARH TOWARDS SWARGHAT ON NALAGARH-SWARGHAT ROAD (NH 105)	SOLAN	Regular	224	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
168	WITHIN 3 KMS FROM HIMACHAL PUNJAB BOUNDARY AT TOKI BARRIER TOWARDS DAMTAL AT RIGHT HAND SIDE ON PATHANKOT JALANDHAR NATIONAL HIGHWAY NH 44	KANGRA	Regular	420	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
169	WITH IN 4 KMS OF INTERSECTION OF NH5 AND NH705 AT THEOG TOWARDS SHIMLA ON NH5	SHIMLA	Regular	170	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
170	WITHIN 3 KMS OF ARKI ROADI DIVERSION INTERSECTION AT SHALAGHAT TOWARDS SHIMLA ON NH 205	SOLAN	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
171	IN AND BETWEEN BRAHMPUKHAR AND INTERSECTION OF NH 205 AND NH 154 ON SHIMLA KANGRA ROAD (NH 205)	BILASPUR	Regular	220	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

172	WITHIN 3 KMS OF OFFICE OF HORTICULTURE DEVELOPMENT OFFICER, DEVELOPMENT BLOCK NICHAR SITUATED AT BHABANAGAR TOWARDS RECONG PEO ON NH5	KINNAUR	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
173	BILASPUR WITHIN MUNICIPAL LIMIT ON BILASPUR - SWARGHAT ROAD	BILASPUR	Regular	160	OBC CC 1	DC	20	20	400	32	55	Draw of Lots	15	4
174	WITHIN 3 KMS OF GOVT SENIOR SECONDARY SCHOOL GHANAHATTI TOWARDS SHIMLA ON NH 205	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
175	WITHIN 4 KMS FROM HIMACHAL-PUNJAB BOUNDARY AT CHAKKI BRIDGE TOWARDS DAMTAL AT RIGHT HAND SIDE ON PATHANKOT JALANDHAR NATIONAL HIGHWAY NH 44	KANGRA	Regular	420	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
176	WITHIN 3 KMS OF POLICE STATION JHAKRI TOWARDS JEORI ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
177	WITH IN 4 KMS OF PUNJAB NATIONAL BANK BRANCH OFFICE GUMMA TOWARDS THEOG ON NH705	SHIMLA	Regular	180	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
178	WITHIN 3 KMS MAHATMA GANDHI MEDICAL SERVICES COMPLEX, KHANERI TOWARDS SHIMLA ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
179	WITHIN 05 KM FROM NHPC CHOWK , BANIKHET ON NH 154A (CHAMBA -PATHANKOT ROAD)	СНАМВА	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
180	WITHIN 2 KMS FROM TABO ENTRY ARC GATE ON NH505 ON EITHER SIDE	LAHAUL AND SPITI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
181	WITHIN 4 KMS OF HOTEL NEW YORK PLAZA ON NH-503 EXTN (LEFT HAND SIDE WHILE GOING FROM MEHATPUR TO UNA)	UNA	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
182	IN AND WITHIN 2 KMS OF UP MOHAL PANOH DWITIYA ON NH- 503 EXTN	UNA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
183	WITHIN 5 KMS OF INTERSECTION OF NH705 WITH PARALA CHOPAL ROAD TOWARDS HATKOTI ON NH705	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
184	WITHIN 03 KM OF HOTEL TARAGARH PALACE ,SUNGAL ON PALAMPUR -MANDI ROAD ON NH 154 TOWARDS BAIJNATH	KANGRA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
185	WITHIN 3 KMS OF POLICE STATION JHAKRI TOWARDS SHIMLA ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
186	WITHIN 3 KMS OF PROPOSED MANDALI-LATHIANI BRIDGE ON NH 503A TOWARDS UNA	UNA	Regular	170	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
187	WITHIN 2 KMS OF BATAPUL CHOWK ON EITHER SIDE ON NEW NH 7	SIRMAUR	Regular	150	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
188	WITHIN 2 KMS OF ATAL BIHARI VAJPAYEE GOVT. COLLEGE TAKIPUR ON LEFT HAND SIDE ON RANITAL TO KANGRA ROAD NH 503	KANGRA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
189	WITHIN 3 KMS OF SAINJ ANNI DIVERSION JUNCTION AT SAINJ TOWARDS ANNI ON NH305	SHIMLA	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
190	WITHIN 3 KMS OF MAHATMA GANDHI MEDICAL SERVICES COMPLEX, KHANERI TOWARDS JEORI ON NH5	SHIMLA	Regular	170	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
191	WITHIN 2 KMS OF ATAL BIHARI VAJPAYEE GOVT. COLLEGE TAKIPUR ON RIGHT HAND SIDE ON RANITAL TO KANGRA ROAD NH 503	KANGRA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
192	WITHIN 3 KMS OF POST OFFICE NOGLI TOWARDS RAMPUR BUSHAHR ON NH5	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
193	WITHIN 3 KMS OF POST OFFICE NOGLI TOWARDS SHIMLA ON NH5	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5

194	WITHIN 4 KMS OF HOTEL LEMON TREE, BHUD TOWARDS NALAGARH ON LEFT HAND SIDE ON BADDI-NALAGARH ROAD (NH 105)	SOLAN	Regular	240	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
195	WITHIN 2 KMS OF GURUDWARA JOHARJI SAHIB, JOHARJI ON EITHER SIDE OF KUMARHATTI- NAHAN ROAD (NH907A)	SOLAN	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
196	WITHIN 4 KM OF INTERSECTION OF NH 05 AND NH 705 AT THEOG TOWARDS HATKOTI ON NH705	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
197	WITHIN 4 KM OF LUHRI BRIDGE ON NH -305 , DISTRICT - KULLU	KULLU	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
198	WITHIN 4 KMS OF KAMDHENU CAFETARIA , NAMHOL TOWARDS BRAHMPUKHAR ON LEFT HAND SIDE ON SHIMLA-BILASPUR ROAD (NH 205)	BILASPUR	Regular	210	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
199	WITHIN 2 KMS OF M/S AGGARWAL FILLING STATION (BPCL PETROL PUMP IN GAGGAL) ON NH -154	KANGRA	Regular	171	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
200	WITHIN 4 KM OF THAKUR DWARA CHOWK, PALAMPUR TOWARDS MANDI ON NH -154	KANGRA	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
201	BETWEEN KM STONE 287 AND 291 ON NH -03 ON EITHER SIDE	KULLU	Regular	160	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
202	WITHIN 2KMS OF H.P. STATE COOPERATIVE BANK, MOHAL KAMRAU, TEHSIL PAONTA SAHIB ON NH707	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
203	WITHIN 4 KMS OF NARKANDA KOTGARH BIFURCATION JUNCTION AT NARKANDA TOWARDS THEOG ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
204	WITHIN 4 KMS FROM HIMACHAL-PUNJAB BOUNDARY AT CHAKKI BRIDGE TOWARDS DAMTAL AT LEFT HAND SIDE ON PATHANKOT JALANDHAR NATIONAL HIGHWAY NH 44	KANGRA	Regular	280	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
205	WITHIN 6 KMS FROM INTERSECTION OF MDR 80 AND NH 503 AT DEHRA GOPIPUR TOWARDS DHALIARA ON NH 503	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
206	WITHIN 2KMS OF SAINWALA BUS STOP, TEHSIL NAHAN ON NH 07(OLD NH72)	SIRMAUR	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
207	WITHIN 4 KMS OF NARKANDA KOTGARH BIFURCATION JUNCTION TOWARDS KUMARSAIN ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
208	WITHIN 4 KMS FROM KANDAGHAT TUNNEL (SHIMLA SIDE) ON RIGHT HAND SIDE TOWARDS SHIMLA ON NH-5	SOLAN	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
209	WITHIN 6 KMS OF KAMDHENU CAFETARIA, NAMHOL TOWARDS BRAHMPUKHAR ON RIGHT HAND SIDE ON SHIMLA-BILASPUR ROAD (NH 205)	BILASPUR	Regular	210	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
210	WITHIN 3 KMS FROM INTERSECTION OF NH 503 AND MDR 46 AT DHALIARA TOWARDS BHARWAIN ON NH 503	KANGRA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
211	WITHIN 4 KMS OF HARYANA-H.P BOUNDARY TOWARDS SOLAN ON LEFT HAND SIDE ON NH 5 (PARWANOO BYPASS)	SOLAN	Regular	220	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
212	WITHIN 4 KM OF AKPA BRIDGE ON EITHER SIDE ON NH-05	KINNAUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
213	WITHIN 3 KMS OF HAVELI RESTAURANT, DHARAMPUR ON EITHER SIDE OF KALKA - SHIMLA NH-5	SOLAN	Regular	240	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
214	WITHIN MUNICIPAL LIMIT OF SUJJANPUR TIHRA ON MDR	HAMIRPUR	Regular	130	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
215	WITHIN 4 KMS OF MASJID-E-AYSHA, BADDI TOWARDS BADDI BUS STAND ON RIGHT HAND SIDE ON BADDI-NALAGARH ROAD (NH 105)	SOLAN	Regular	340	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

216	WITHIN 4 KMS OF POST OFFICE DUTTNAGAR TOWARDS RAMPUR BUSHAHR ON NH5	SHIMLA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
217	WITHIN 8 KMS FROM INTERSECTION OF MDR 80(JAWALAMUKHI-NAGROTA SURIAN MDR) AND NH 503 AT DEHRA GOPIPUR TOWARDS BANKHANDI ON NH 503	KANGRA	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
218	WITHIN 4 KMS OF POST OFFICE DUTTNAGAR TOWARDS NARKANDA ON NH5	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
219	WITHIN 4 KMS OF SASHASTRA SEEMA BAL TRAINING CENTER KUMARSAIN TOWARDS RAMPUR BUSHAHR ON NH5	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
220	WITHIN 5 KMS OF SAINJ ANNI DIVERSION JUNCTION AT SAINJ TOWARDS NARKANDA ON NH5	SHIMLA	Regular	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
221	BETWEEN DHARAMSHALA AND MCLEODGANJ ON NH 503 - OUTSIDE MUNICIPAL LIMITS OF DHARAMSHALA	KANGRA	Regular	166	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
222	WITHIN 5 KMS FROM D.A.V PUBLIC SCHOOL BHAROLI TOWARDS JAWALAMUKHI ON NH 303	KANGRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
223	MOHAL SHILLA, TEHSIL KAMRAU ON NH 707	SIRMAUR	Regular	150	OPEN CC 2	DC	20	20	400	32	95	Draw of Lots	15	5
224	WITHIN 3 KMS OF SARAHAN DIVERSION JUNCTION AT JEORI TOWARDS RECONG PEO ON NH5	SHIMLA	Regular	160	OBC CC 1	DC	20	20	400	32	95	Draw of Lots	15	4
225	WITHIN 3 KMS OF KC GROUP OF INSTITUTIONS , PANDOGA ON HOSHIARPUR-UNA ROAD ON NH 503A	UNA	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
226	WITHIN 5 KMS OF HPTDC HOTEL APPLE BLOSSOM FAGU TOWARDS THEOG ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
227	WITHIN 5 KMS OF HPTDC HOTEL BUSHAHR REGENCY RAMPUR BUSHAHR TOWARDS SHIMLA ON NH5	SHIMLA	Regular	200	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
228	WITHIN 4 KMS FROM TUNNEL ON BADOG BYEPASS TOWARDS SOLAN ON EITHER SIDE OF NH 05	SOLAN	Regular	150	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
229	WITHIN 4 KMS FROM INTERSECTION OF NH 503 AND NH 303 AT RANITAL TOWARDS MATA BAGLAMUKHI TEMPLE ON NH 503	KANGRA	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
230	WITHIN 5 KMS OF SAINJ ANNI DIVERSION JUNCTION AT SAINJ TOWARDS RAMPUR BUSHAHR ON NH5	SHIMLA	Regular	160	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
231	WITHIN 5 KMS OF SASHASTRA SEEMA BAL TRAINING CENTER KUMARSAIN TOWARDS NARKANDA ON NH5	SHIMLA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
232	WITHIN 3 KMS OF HOTEL NEW YORK PLAZA ON NH-503 EXTN (RIGHT HAND SIDE WHILE GOING FROM MEHATPUR TO UNA)	UNA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
233	WITHIN 6 KMS FROM HP PETROL PUMP M/S HP SPEEDWAYS , HIRANAGAR TOWARDS DARLAGHAT ON NH 205	SHIMLA	Regular	220	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
234	WITHIN 5 KM OF POWER HOUSE CHAMERA III POWER STATION , DHARWALA ON CHAMBA BHARMOUR ROAD NH154A	СНАМВА	Regular	156	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
235	WITHIN 6 KMS OF PUNJAB NATIONAL BANK BRANCH OFFICE GUMMA TOWARDS HATKOTI ON NH705	SHIMLA	Regular	220	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
236	WITHIN 4 KM FROM 32 MILE INTERSECTION (INTERSECTION OF MDR 88 WITH NH154) TOWARDS KANGRA ON RIGHT HAND SIDE	KANGRA	Regular	150	ОВС	DC	35	35	1225	32	95	Draw of Lots	15	4
237	WITHIN NAGAR PANCHAYAT KANDAGHAT, DIST. SOLAN (ON RIGHT HAND SIDE FROM KALKA TOWARDS SHIMLA NH-5)	SOLAN	Regular	250	OPEN CC 1	DC	20	20	400	32	95	Draw of Lots	15	5
238	WITHIN NAGAR PANCHAYAT KANDAGHAT, DIST. SOLAN (ON LEFT HAND SIDE FROM KALKA TOWARDS SHIMLA NH-5)	SOLAN	Regular	250	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
239	WITHIN MUNICIPAL LIMIT OF HAMIRPUR ON MDR /ODR	HAMIRPUR	Regular	200	OBC	DC	20	20	400	32	55	Draw of Lots	15	4

240	WITHIN 7 KM FROM PARASHAR GAS SERVICE (INDANE GAS AGENCY) SHOWROOM, KARIAN CHAMBA TOWARDS BHARMOUR ON NH 154A	СНАМВА	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
241	WITHIN NAGAR PANCHAYAT KARSOG ON KARSOG-MAMEL ROAD	MANDI	Regular	110	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
242	WITHIN 5 KMS OF HPCL PETROL PUMP AT KINGAL TOWARDS NARKANDA ON NH5	Shimla	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
243	WITHIN 3 KM OF JAWAHAR NAVODHAYA VIDHYALAYA , VILLAGE LARI ON NH 505	LAHAUL AND SPITI	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
244	MANDI WITHIN MUNICIPAL LIMITS ON NH	MANDI	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
245	ON PALCHAN BYPASS ON MANALI- LEH HIGHWAY (NH-03)	KULLU	Regular	180	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
246	BETWEEN KAITHALIGHAT RAILWAY STATION AND SHOGHI BYPASS JUNCTION ON NH5	SOLAN	Regular	200	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
247	WITHIN CHIRGAON NAGAR PANCHAYAT LIMITS ON ROHRU CHANSHAL ROAD	Shimla	Regular	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
248	WITHIN 1 KM OF IOCL PETROL PUMP M/S JAI JAGDAMBAY FILLING STATION AT MEELWAN DISTRICT KANGRA ON NH 44 (PATHANKOT TOWARDS JALANDHAR) LEFT HAND SIDE	KANGRA	Regular	350	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
249	IN AND WITHIN 2 KMS OF MOHAL KAULAPUR TEHSIL RAKKAR ON NH 3 (KALOHA TO NADAUN ROAD)	KANGRA	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
250	GHUMARWIN WITHIN MUNICIPAL LIMIT ON GHUMARWIN- SUNHANI-BERTHIN ROAD	BILASPUR	Regular	100	OBC PH	DC	20	20	400	32	55	Draw of Lots	15	4
251	WITHIN NAGAR PANCHAYAT BANJAR ON NH-305.	KULLU	Regular	180	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
252	BADDI WITHIN MUNICIPAL LIMITS ON MC OFFICE - VARDHAMAN CHOWK- UNICHEM CHOWK ROAD	SOLAN	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
253	GHUMARWIN WITHIN MUNICIPAL LIMIT ON GHUMARWIN- KUTHERA ROAD (MDR 79)	BILASPUR	Regular	120	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
254	WITHIN NAGAR PANCHAYAT NIRMAND ON NIRMAND - RAMPUR BUSHER ROAD.	KULLU	Regular	140	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
255	GHUMARWIN WITHIN MUNICIPAL LIMIT ON BILASPUR- GHUMARWIN-HAMIRPUR ROAD (NH 103)	BILASPUR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
256	IN AND BETWEEN MOHAL BHOUR TO DHANOTU BRIDGE ON LEFT HAND SIDE FROM CHANDIGARH TWOWARDS MANDI ON NH-154	MANDI	Regular	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
257	MOHAL MO, ON PATHANKOT TO MANDI HIGHWAY RIGHT HAND SIDE (ON NH154)	KANGRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
258	WITHIN 5 KM FROM BRIDGE ON RIVER RAVI AT KHARAMUKH TOWARDS CHAMBA ON NH154A	СНАМВА	Regular	156	OBC	DC	20	20	400	32	95	Draw of Lots	15	4
259	VILLAGE DHARWA, TEHSIL SHILLAI ON NH 707 BETWEEN KM STONE NO 79 AND 81 ON LEFT HAND SIDE FROM PAONTA SAHIB TO HATKOTI	SIRMAUR	Regular	150	OPEN	DC	20	20	400	32	95	Draw of Lots	15	5
260	MOHAL DHAR KAVE ON NH-05	KINNAUR	Regular	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
261	MOHAAL BANOHA ON GHUMARWIN-KUTHERA-SARKAGHAT ROAD , TEHSIL GHUMARWIN	BILASPUR	Rural	110	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
262	IN AND BETWEEN MOHAAL PANJGAIN AND MOHAAL DHAR TATOH ON BERI NAGAON ROAD, TEHSIL BILASPUR SADAR	BILASPUR	Rural	140	OBC	DC	20	20	400	16	35	Draw of lots	5	3

263	WITHIN 3 KM FROM GOVERNMENT PRIMARY SCHOOL KARORI, UP TEHSIL PUKHRI ON MDR (CHAMBA TO KILLAR ROAD)	СНАМВА	Rural	75	SC	CFS	20	20	400	0	0	Draw of lots	0	2
264	MOHAAL TOBA SANGWANA ON ANANDPUR SAHIB-NAINA DEVI ROAD (MDR 32), TEHSIL NAINA DEVI	BILASPUR	Rural	120	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
265	VILLAGE AND MOHAL BAROUR , TEHSIL CHAMBA ON CHAMBA- PALIUR-SAHOO MAIN ROAD	СНАМВА	Rural	60	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
266	WITHIN 2 KMS FROM GOVT COLLEGE RAJGARH TOWARDS RAJGARH ON RAJGARH SOLAN ROAD	SIRMAUR	Rural	140	OBC	DC	20	20	400	16	35	Draw of lots	5	3
267	IN BETWEEN KALAAMB HP TOLL BARRIER AND TRILOKPUR DEVI TEMPLE ON TRILOKPUR ROAD	SIRMAUR	Rural	340	SC	CFS	20	20	400	0	0	Draw of lots	0	2
268	ON PROPOSED NEW HAMIRPUR BYPASS ROAD	HAMIRPUR	Rural	180	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
269	WITHIN 5 KMS FROM INTERSECTION OF NH 44 AND MDR 47 TOWARDS KANDWAL ON KANDWAL DAMTAL MDR ROAD	KANGRA	Rural	210	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
270	IN AND BETWEEN MOHAAL TIPRA AND FCI GODOWN ON BAROTIWALA-KHERANWALI-KALKA ROAD, TEHSIL BADDI	SOLAN	Rural	110	OBC	DC	20	20	400	16	35	Draw of lots	5	3
271	MOHAL SANSARPUR TEHSIL JASWAN ON PONG DAM FATEHPUR JASSUR MDR	KANGRA	Rural	205	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
272	WITHIN 6 KM FROM SHOWROOM OF HP STATE CIVIL SUPPLIES CORP. LTD. GAS AGENCY (INDANE), DHARAMSHALA TOWARDS CHETRU ON CHETRU-SHEELA ROAD (OUTSIDE MUNICIPAL LIMITS)	KANGRA	Rural	170	ST	CFS	20	20	400	0	0	Draw of lots	0	2
273	WITHIN 7 KMS OF HPTDC HOTEL GOLF GLADE NALDHERA TOWARDS TATTAPANI ON SHIMLA TATTAPANI ROAD	SHIMLA	Rural	120	OBC	DC	20	20	400	16	35	Draw of lots	5	3
274	MOHAAL KHARSI KANAITA ON KHARSI CHOWK-ULTRATECH CEMENT FACTORY, BAGA ROAD, TEHSIL BILASPUR SADAR	BILASPUR	Rural	160	OPEN CC 1	DC	20	20	400	16	35	Draw of lots	5	4
275	MOHAL LOWER LAMBAGAON ON MDR (TALWAR JHUNGA DEVI- JAISINGHPUR ROAD)	KANGRA	Rural	105	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
276	VILLAGE MANJU TEHSIL -CHURAH ,DISTT -CHAMBA ON CHAMBA TISSA ROAD	СНАМВА	Rural	70	SC	CFS	20	20	400	0	0	Draw of lots	0	2
277	VILLAGE PUJARLI, TEHSIL SHIMLA RURAL ON NEW PROPOSED HIGHWAY FROM KAITHALIGHAT TO DHALLI	SHIMLA	Rural	130	OBC	DC	20	20	400	16	35	Draw of lots	5	3
278	WITHIN 2 KMS FROM GOVERNMENT SENIOR SECONDARY SCHOOL RAJIANA (NEAR 53 MILES) TOWARDS TANDA MEDICAL COLLEGE ON TANDA MEDICAL COLLEGE ROAD	KANGRA	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
279	MOHAL- BHALLAN-1, TEHSIL BHUNTAR ON HURLA -GADSA ROAD	KULLU	Rural	100	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
280	MOHAL LAMWARI ON PATLANDAR TO CHORI ROAD, TEHSIL TIHRA SUJANPUR	HAMIRPUR	Rural	100	SC	CFS	20	20	400	0	0	Draw of lots	0	2
281	WITHIN 6 KMS OF MEHLI JUNCTION TOWARDS JUNGA ON MEHLI JUNGA ROAD	SHIMLA	Rural	150	OBC	DC	20	20	400	16	35	Draw of lots	5	3
282	MOHAL BALI BATADI TEHSIL NIHRI ON PROPOSED TATTAPANI- SLAPPER ROAD (MDR 22)	MANDI	Rural	155	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
283	MOHAL HARIPUR TOHANA , TEHSIL POANTA SAHIB ON BHAGANI SAHIB ROAD	SIRMAUR	Rural	150	OPEN CC 2	DC	20	20	400	16	35	Draw of lots	5	4
284	WITHIN 4KM OF KUMARHATTI BUS STOP ON SOLAN BAROG KUMARHATTI MDR ROAD	SOLAN	Rural	110	OBC CC 1	DC	20	20	400	16	35	Draw of lots	5	3
285	MOHAL THAKURDWARA , SUB TEHSIL THAKURDWARA ON BROTA -MEELWAN ROAD	KANGRA	Rural	170	SC CC 1	CFS	20	20	400	0	0	Draw of lots	0	2
286	MOHAAL. BHADERWAR, TEHSIL SARKAGHAT, DISTT MANDI ON SARKAGHAT TO REWALSAR ROAD VIA BHADERWAR	MANDI	Rural	100	OPEN	DC	20	20	400	16	35	Draw of lots	5	4

287	WITHIN 2 KMS OF GOVT PARALA MARKET YARD GATE AT PARALA ON CHHAILA SAINJ CHOPAL ROAD TOWARDS CHHAILA	SHIMLA	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
288	BETWEEN KM STONE NUMBER 4 TO 6, FROM VILLAGE NAWADA TEHSIL POANTA SAHIB ON MANPUR DEWRA ROAD TOWARDS MANPUR DEWRA	SIRMAUR	Rural	160	OBC	DC	20	20	400	16	35	Draw of lots	5	3
289	WITHIN 2 KM OF TIKAN (FROM SUB DIVISIONAL MAGISTRATE OFFICE) ON GHATASANI-BAROT ROAD.	MANDI	Rural	100	SC	CFS	20	20	400	0	0	Draw of lots	0	2
290	WITHIN 8 KMS FROM INTERSECTION OF SHIMLA TATTAPANI ROAD WITH NH5 AT DHALLI TOWARDS TATTAPANI	SHIMLA	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
291	IN AND BETWEEN KAITHALIGHAT AND DHALLI ON NEW PROPOSED 4 LANE NH	SHIMLA	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
292	IN AND BETWEEN MOHAAL BAIRAMPUR AND MOHAAL GHIHAR TOWARDS PROPOSED MEDICAL DEVICES PARK ON DHEROWAL- NEW CHANDIGARH ROAD, TEHSIL NALAGARH	SOLAN	Rural	180	OBC	DC	20	20	400	16	35	Draw of lots	5	3
293	WITHIN 5 KM OF NERIPUL ON SAINJ RAJGARH ROAD TOWARDS SAINJ	SHIMLA	Rural	170	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
294	ON NEW PROPOSED ROAD FROM KARCHAM TO RECONG PEO	KINNAUR	Rural	160	ST	CFS	20	20	400	0	0	Draw of lots	0	2
295	MOHAL RAJPUR, TEHSIL POANTA SAHIB ON POANTA SAHIB PURWALA BHARLI ROAD	SIRMAUR	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
296	WITHIN 3 KMS OF HP ENTRY TOLL BARRIER TOWARDS AMBUJA CEMENT PLANT, NAWAGRAON ON BHARATGARH-PANJEHRA ROAD	SOLAN	Rural	224	OBC	DC	20	20	400	16	35	Draw of lots	5	3
297	WITHIN 3KMS OF OLD BUS STAND KUNIHAR ON EITHER SIDE OF RAMSHEHAR - JUBBARHATTI MDR ROAD	SOLAN	Rural	130	OPEN CC 1	DC	20	20	400	16	35	Draw of lots	5	4
298	MOHAL FIRNU , TEHSIL- KARSOG ON MDR-21 ((BAKROT KARSOG SAINJ ROAD)	MANDI	Rural	100	SC	CFS	20	20	400	0	0	Draw of lots	0	2
299	WITHIN 4 KMS OF TVS MOTOR COMPANY, BHATIAN ON NALAGARH-BHARATGARH ROAD, TEHSIL NALAGARH	SOLAN	Rural	340	OBC	DC	20	20	400	16	35	Draw of lots	5	3
300	WITHIN 2 KMS FROM VILLAGE SHARGAON TEHSIL RAJGARH TOWARDS SAINJ ON MDR 73 (KUMARHATTI SAINJ ROAD)	SIRMAUR	Rural	150	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
301	MOHAAL MAKHNU MAJRA ON VARDHMAN CHOWK-TORRENT PHARMACEUTICALS LTD. ROAD, TEHSIL BADDI	SOLAN	Rural	160	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
302	WITHIN 3 KMS OF IOC BOTTLING PLANT TOWARDS MEHATPUR ON SANTOSHGARH-MEHATPUR ROAD (OUTSIDE MUNICIPAL LIMITS)	UNA	Rural	120	OBC	DC	20	20	400	16	35	Draw of lots	5	3
303	WITHIN 5 KM FROM ARJUN INDANE GRAMIN VITRAK SALOONI (INDANE GAS AGENCY) TOWARDS CHAMBA, TEHSIL SALOONI, ON CHAMBA-SALOONI ROAD	СНАМВА	Rural	150	ST	CFS	20	20	400	0	0	Draw of lots	0	2
304	MOHAAL JHAR MAJRI, TEHSIL BADDI	SOLAN	Rural	330	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
305	WITHIN 2 KMS OF GLOBAL SUPER SPECIALITY HOSPITAL ON BADDI-SIKKA HOTEL CHOWK- BAROTIWALA ROAD (OUTSIDE MUNICIPAL LIMIT), TEHSIL BADDI	SOLAN	Rural	210	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
306	WITHIN 5KMS FROM PUNJAB HIMACHAL BORDER ON TAHLIWAL-BATHRI-GARSHANKAR ROAD TOWARDS TAHLIWAL ON GARSHANKAR-TAHLIWAL ROAD	UNA	Rural	110	OBC	DC	20	20	400	16	35	Draw of lots	5	3
307	VILLAGE MARAOG, TEHSIL CHOPAL	SHIMLA	Rural	160	SC	CFS	20	20	400	0	0	Draw of lots	0	2
308	IN AND BETWEEN MOHAAL BARUNA AND MOHAAL MASTANPUR ON PANJEHRA-BAGHERI ROAD	SOLAN	Rural	170	OPEN	DC	20	20	400	16	35	Draw of lots	5	4

309	DOCHI ON SADHUPUL CHAIL ROAD	SOLAN	Rural	120	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
310	WITHIN 3 KMS FROM CHIRGAON BRIDGE ON ROHRU CHANSAL ROAD	SHIMLA	Rural	150	OBC PH	DC	20	20	400	16	35	Draw of lots	5	3
311	MOHAL CHHABEHAR ON AWAHDEVI TO TIHRA ROAD,TEHSIL TIHRA,DISTRICT MANDI.	MANDI	Rural	70	SC PH	CFS	20	20	400	0	0	Draw of lots	0	2
312	WITHIN 4 KMS FROM HP-PUNJAB BORDER ON UNA JAIJON ROAD TOWARDS HAROLI	UNA	Rural	115	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
313	WITHIN 6KMS FROM IOCL UNA TERMINAL TOWARDS SANTOSHGARH ON UNA-SANTOSHGARH ROAD	UNA	Rural	160	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
314	VILLAGE BAT KALAN TEHSIL HAROLI ON TAHLIWAL-BATHRI ROAD	UNA	Rural	130	OBC	DC	20	20	400	16	35	Draw of lots	5	3
315	VILLAGE GHUGGAN KAKRANA SUB TEHSIL BIHRU KALAN ON UNA-BANGANA ROAD	UNA	Rural	100	OPEN	DC	20	20	400	16	35	Draw of lots	5	4
316	MOHAL GONDPUR JAICHAND NICHLA UPTEHSIL DULEHAR ON DULEHAR TO GARSHANKAR ROAD	UNA	Rural	150	SC	CFS	20	20	400	0	0	Draw of lots	0	2

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available on the Corporation Website (www.iocl.com / ww

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by **27/09/2023**.

Type of RO	Type of	Category	Applicatio	Type of	Туре	Category	Application
	Site		n fee in	RO	of Site		fee in Rs.
			Rs.				
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

^{*} The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of <u>15</u> years and renewable every <u>01</u> years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English Newspapers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For any information with regard to the advertisement, candidates may contact the following address:-

Address	Contact No.	For districts:
DIVISIONAL RETAIL SALES HEAD, INDIAN OIL CORPORATION LIMITED	0177-2626667	BILASPUR, CHAMBA, HAMIRPUR, KANGRA,
(MD), SHIMLA DIVISIONAL OFFICE, S.D.A. COMPLEX, BLOCK-21,		KINNAUR, KULLU, LAHAUL AND SPITI, MANDI,
KASUMPTI, SHIMLA, HIMACHAL PRADESH PIN CODE-171009		SHIMLA, SIRMOUR, SOLAN, UNA